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0.1700 1.90 0.32 59, 600 19,072
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0. 3200 1.90 0. 60 40, 300 24, 180
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CH O ED < HNERE >
FATHeE A
Al (A) A 0. 1000 0.10 59, 600 5, 960
Al (B) A 0. 1800 0.18 48, 500 8,730
A (C) A 0. 3700 0.37 40, 300 14,911
ik 8 A
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Al (A) A 0. 06
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A (C) A 0.24
ik 8 A
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CH O ED < HNERE >
FATHeE A
Al (A) A 0. 1000 0.10 59, 600 5, 960
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ik 8 A
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CH O ED < HNERE >
FATHeE A
Al (A) A 0. 1000 0.10 59, 600 5, 960
Al (B) A 0. 3800 0.38 48, 500 18, 430
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CH O ED < HNERE >
FATHeE A
Al (A) A 0. 1000 0.10 59, 600 5, 960
Al (B) A 0. 5600 0.56 48, 500 27, 160
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ik 8 A
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FATHeE A
Al (A) A 0. 2000 0. 20 59, 600 11, 920
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FATHeE A
Al (A) A 0. 0800 0.08 59, 600 4,768
Al (B) A 0.1100 0.11 48, 500 5, 335
A (C) A 0. 1800 0.18 40, 300 7,254
ik 8 A
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FATHeE A
Al (A) A 0. 5500 1. 00 0.55 59, 600 32, 780
Al (B) A 1. 8500 1. 00 1.85 48, 500 89, 725
Al (C) A 2. 3800 1. 00 2.38 40, 300 95,914
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<A ED < AR >
EXERS 0]
el (A)
il (B)
il (C)
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0. 0200 0.02 59, 600 1,192
0. 0800 0.08 48, 500 3, 880
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